4°3 – Corrigé de l’interrogation n°11 – Sujet A
Exercice 1 :

2 x2 × ( − 3 x ) = − 6 x3            2 + 7x = 2 + 7x         18 x − 30 x = − 12 x

x + 2x + 3x + 4x = 10x                     x × 2x × 3x × 4x = 24 x4
Exercice 2 :

A = ( 8x − 2 ) − ( 9 + 7x )
B = 5 ( x + 3 ) − ( 3 x − 2 ) × 7

A = 8x − 2 − 9 − 7x

B = 5x + 15 − ( 21x − 14)

A = x − 11



B = 5x + 15 − 21x + 14






B = − 16x + 29

C = 6 x ( 3 − x ) − 4 x ( − x + 4 )
D = ( 7 − x ) ( 7 + x )
C = 18x − 6x2 + 4x2 −16x

D = 49 + 7x − 7x − x2
C = − 2x2 + 2x



D = − x2 + 49

E = ( 2 x − 8 ) ( 3 − x2 )
E = 6x − 2x3 − 24 + 8x2
E = − 2x3 + 8x2 + 6x − 24

Exercice 3 :

( a + b )2 = ( a + b ) ( a + b )
( a − b )2 = ( a − b ) ( a − b )

               = a2 + ab + ab + b2                     = a2 − ab − ab + b2
               = a2 + 2ab + b2


     = a2 − 2ab + b2

( a + b ) ( a − b ) = a2 − ab + ab − b2
                           = a2 − b2
4°3 – Corrigé de l’interrogation n°11 – Sujet B

Exercice 1 :

5 + 2x = 5 + 2x            12 x − 20 x = − 8x
9 x2 × ( − 2 x ) = − 18 x3

x + 2x + 3x + 4x = 10x                     x × 2x × 3x × 4x = 24 x4
Exercice 2 :

A = 2 ( x + 7 ) − ( 4 x − 1 ) × 5

B = ( 7x − 3 ) − ( 4 + 6x )
A = 2x + 14 − ( 20x − 5 )

B = 7x − 3 − 4 − 6x
A = 2x + 14 − 20x + 5


B = x − 7
A = − 18x + 19

C = 10 x ( 7 − x ) − 2 x ( − x + 5 )
D = ( 3 − x ) ( 3 + x )

C = 70x − 10x2 + 2x2 − 10x

D = 9 + 3x − 3x − x2
C = − 8x2 + 60 x



D = − x2 + 9

E = ( 4 x − 1 ) ( 5 − x2 )
E = 20x − 4x3 − 5 + x2
E = − 4x3 + x2 + 20 x − 5
Exercice 3 :

( a + b )2 = ( a + b ) ( a + b )
( a − b )2 = ( a − b ) ( a − b )

               = a2 + ab + ab + b2                     = a2 − ab − ab + b2
               = a2 + 2ab + b2


     = a2 − 2ab + b2

( a + b ) ( a − b ) = a2 − ab + ab − b2
                           = a2 − b2
